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[Type text] 1      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

 

   
 
 

ehd;F (04) fl;lha tpdhf;fs; 
(nkhj;jk; 20 Gs;spfs;) 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  

mj;jpahak; 01 - Kfhik fzf;fPl;Lf;fhd mwpKfk; ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 
(a) 
1. xU epWtdj;jpd; epjp eltbf;iffs; kw;Wk; Vida nraw;ghLfSf;fpilapy; 

ey;Ywitg; NgZtjw;F Mjutspj;jy;. 

2. nghUj;jkhd nryTg; gFg;gha;tpd; Clhf jw;Nghija epiyikapd; 

kjpg;gPLfspypUe;J vjpu;fhy nraw;ghLfs; gw;wpa MNyhridfis toq;Fjy;. 

3. jPu;khdq;fis vLg;gjw;F Kfhikj;Jtj;jpd; midj;J kl;lq;fSf;Fk; Njitahd 

jfty;fis toq;Fjy;. 

4. jpl;lkpLtjw;Fk; xOq;fikg;gjw;Fk; Njitahd jfty;fisAk; mwpf;iffisAk; 

toq;Fjy;. 

5. tzpf eltbf;iffspd; Kiwfis fl;Lg;gLj;Jtjw;fhd gupe;Jiuia toq;Fjy;. 

6. vjpu;fhy eltbf;iffs; Fwpj;J KbTfis vLg;gjw;Fj; Njitahd epjpj;juTfs; 

kw;Wk; jfty;fisr; RUf;fkhff; $Wjy;. 

7. gpur;rpidfs; %yk; gpupTfs;/ nray;ghLfis milahsk; fhz;gjw;Fk; 

je;jpNuhgha KbTfis vLg;gjw;Fk; Mjutspj;jy;.                 

       (02 Gs;spfs;) 

(b)  
(i) 

rkg;ghl;Lg;Gs;sp (BEP) = 
ghjpl;l epiyahd fpuak; 

xU myfpd; gq;fspg;G 

   
BEP = 

1,440,000 

15 

BEP = 96,000 myFfs; 

  
 
 
 
 
 

gFjp - A 

 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk; III guPl;ir – [dtup 2022 

(302) Kfhik fzf;fPLk;; epjpapaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 



 

[Type text] 2      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nra;Kiwfs;: xU myfpd; gq;fspg;igf; fzf;fpLjy; 
 
xU myfpd; 
gq;fspg;G 

= xU myfpd; tpw;gid tpiy – xU myfpd; khWk; fpuak; 

 = 85 – (40+18+12) 
 = 85 -70 
 = 15 
 

   (02 Gs;spfs;) 
(ii) 
ghJfhg;G vy;iy 

(MOS) 
= ghjp;l;l tpw;gid myFfs; - rkg;ghl;Lg;Gs;spapy;; tpw;gid myFfs;  

  
 

MOS = 100,000 - 96,000 

  
 

MOS = 4,000 myFfs; 
 

   (01 Gs;spfs;) 
 (nkhj;jk; 05 Gs;spfs;) 

 

tpdh 02 w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  

mj;jpahak;; 07 - njhopw;ghl;L %yjd Kfhikj;Jtk; 

 
  Fwpg;G 2021 

,Ug;G tjpTf;fhyk; 01 29 

+ fld;gl;Nlhu;; Nrfupg;Gf;fhyk; 02 146 

   175 

(-)fld; nfhLj;Njhu; jPu;Tf;fhyk;  03 (130) 

njhopw;ghl;L %yjd Row;rpapd;; fhyk;  45 ehl;fs; 
 

Fwpg;G 01 - ,Ug;G tjpTf;;fhyk; 
 

     

,Ug;G tjpTf;;fhyk; = 
ruhrup ,Ug;G 

x 365 ehl;fs;  tpw;gidf;fpuak; 
 

  
   

 
= (1,768,000+2,174,400)/2 x 365 ehl;fs; 

 
  

24,640,000 
  

  
   

 

= 1,971,200  x 365 ehl;fs; 
 

  

24,640,000 
  

     

 

= 29 ehl;fs; 
   

 
 
 
 



 

[Type text] 3      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

Fwpg;G 02 – fld;gl;Nlhu; Nrfupg;Gf; fhyk; 
    
fld;gl;Nlhu; Nrfupg;Gf; fhyk; = 365  

  fld;gl;Nlhu; Gus;T tpfpjk;  
 = 365  
  2.5  
 = 146 ehl;fs;  
 

 

 

 
nra;Kiw - nfhs;tdTfs; 
 
tpw;gidf;fpuak; 

 
24,640,000 

 +  ,Wjp ,Ug;G 
 

1,768,000 

(-)Muk;g ,Ug;G 
 

(2,174,400) 

nfhs;tdTfs; 
 

24,233,600 

 (05 Gs;spfs;) 

tpdh 03 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; fl;Lg;gLj;jy; vjpu; 
ghjPly; 

 

(a) tpw;gidg; ghjPL 
      2022 ,y; KbTw;w Mz;bw;fhd 

 fzpak; xU myfpw;F (&.) ngWkjp (&.) 

tpw;gid 202,500 1,330 269,325,000 

 
nra;Kiwfs;: 
 
tpw;gid myFfs; (ghjpl;l) 
tpw;gid 2021 = 180,000 myFfs; 
2022 Mk; Mz;bwfhd ghjpl;l tpw;gidfs; = 180,000/16 × 18 = 202,500 myFfs; 
 
 

Fwpg;G 03 – fld; nfhLj;Njhu; jPu;Tf; fhyk; 

 
fld; nfhLj;Njhu; 
jPu;Tf; fhyk; 

= ruhrup tpahghu nrd;kjp / ruhrup fld; nfhLj;Njhu; x 365 ehl;fs; 

 
 

nfhs;tdTfs; 
  

  
   

 

= (9,898,000+7,350,000)/2 
x 365 ehl;fs; 

 
 

  

24,233,600  
 

   

  

 

 

= 8,624,000 
x 365 ehl;fs; 

 
 

  

24,233,600 
  

   

 

  

 

= 130 ehl;fs;  
  



 

[Type text] 4      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

xU myfpw;fhd tpw;gid tpiy (ghjpl;l) 
xU myfpd; tpiy 2021 = &. 1,400 
vjpu;ghu;f;fg;gl;l 5% tPo;r;rpf;Fg;gpd; 2022Mk; Mz;bw;fhd myfpd; tpiy 
= &.1,400 × 95% = 1,330 

       (03 Gs;spfs;) 
(b) cw;gj;jpg; ghjPL 
  KbTw;w 2022 Mk; Mz;bw;F 

 myFfs; 

Njitg;gLk; tpw;gid   202,500 

+ ,Wjp ,Ug;G 20,250 

 222,750 

(-)Muk;g ,Ug;G (11,000) 
ghjpl;l cw;gj;jp 211, 750 

 
nra;Kiw: 
,Wjp ,Ug;G = 202,500 × 10% = 20,250 myFfs; 

   (02 Gs;spfs;) 
(nkhj;jk; 05 Gs;spfs;) 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 - Kfhik fzf;fPl;Lf;fhd mwpKfk; ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 
 

 

 

MfNt, ,e;j cw;gj;jpia fk;gdp Vw;Wf;nfhz;lhy; $Ljyhf &. 300,000/-  ,yhgj;ij 
ngwKbAk;.                

 (05 Gs;spfs;) 
 

   
&. 

tpw;gid  &.600 × 10,000 
 

6,000,000 

(-) nghUj;jkhd fpuak;   

   %yg;nghUs; X 
     Njitahd %yg;nghUs; 10,000 × 2fp.fp. = 20,000 fp.fp. 

    ifapYs;s ,Ug;G                                 (5,000) fp.fp. 
  

  nfhs;tdTf;fpuak;                                                          15,000fp.fp.× &.160 
2,400,00

0 
 %yg;nghUs; Y 

   

  nfhs;tdTf;fpuak;                            10,000fp.fp. × &.150 
1,500,00

0 
 $ypf; fpuak; 

     Njitahd $yp 
kzpj;jpahyk;   10,000 × 2kzp = 20,000 

  
  Nkyjp;f  $yp Cf;fj;njhif  

20,000 × &.400 × 20% 
1,600,00

0 
 

khWk; Nke;jiy &.20 × 10,000 200,000 
(5,700,000

) 

,yhgk; 
  

300,000 

gFjp A KbT 
 



 

[Type text] 5      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(30 Gs;spfs;) 
 

tpdh 05 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 - Kfhik fzf;fPl;Lf;fhd mwpKfk; ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 (a) 
  jpwikahd $yp 

nghUs; 
Nfs;tp / ghjpl;l 

tpw;gid 
(myFfs;) 

jpwikahd $yp 
Njitg;ghL 

(kzp) 

nkhj;j 
Njitg;ghL 

(kzp) 

rpwpa 1,000 0.8 800 

 
 

(800/1,000) 
 

Mlk;gukhd 600 1.1 660 

 
 

(1,100/1,000) 
 

cau;e;j 200 1.5 300 

 
 

(1,500/1,000) 
 nkhj;jkhf Njitg;gLk; 

(kzp)  
 

1,760 

jpwikahd $yp 
fpilg;gdT (kzp) 

  

1,900 

kpif 
  

140 
 
  nghjpapLk; jhs;   

nghUs; 
Nfs;tp / ghjpl;l 

tpw;gid 
(myFfs;) 

nghjpapLk; jhs; 
(r.kP.) 

nkhj;j 
Njitg;ghL 

(r.kP.) 

rpwpa 1,000 0.4 400 

  

(160/400) 
 Mlk;gukhd 600 0.6 360 

  

(240/400) 
 cau;e;j 200 0.9 180 

  

(360/400) 
 nkhj;jkhf Njitg;gLk; 

rJu kPl;lu; 
  

940 
nghjpapLk; jhspd;  
fpilg;gdT (rJu kPl;lu;) 

  

1,000 

kpif 
  

60 

 
  tpepNahf vil 

nghUs; 
Nfs;tp / ghjpl;l 

tpw;gid (myFfs;) 

tpepNahf vil 
(fp.fp.) 

nkhj;j 
Njitg;ghL 

(fp.fp.) 

rpwpa 1,000 1 1,000 

  

(200/200) 
 Mlk;gukhd 600 1.5 900 

  

(300/200) 
 cau;e;j 200 2.5 500 

  

(500/200) 
 

gpupT - B 



 

[Type text] 6      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nkhj;jkhf Njitg;gLk; 
vil  

  

2,400 
tpepNahf vil 
fpilg;gdT 

  

2,200 

jl;Lg;ghL 
  

200 

 
 tiuaWf;fg;gl;l fhuzp tpepNahf vil  

       (04 Gs;spfs;) 
 (b)  

 

 rpwpa  Mlk;gukhd  cau;e;j 
tpw;gid tpiy  2,600  4,400  6,500 
(-)khWk; fpuak;  

 

 

 

 

 %yg;nghUs; 800  1,900  2,800  

jpwikahd $yp 800  1,100  1,500  

nghjpapLk; jhs;  160  240  360  

tpepNahff; fpuak; 200  300  500  

khWk; Nke;jiy 150  200  250  

nkhj;j khWk; fpuak;  (2,110)  (3,740)  (5,410) 

gq;fspg;G   490  660  1,090 
xU myfpw;fhd tpepNahf 
vil (fp.fp.) 

 
1 

 
1.5 

 
2.5 

xU tpepNahfj;jpw;fhd 
gq;fspg;G (fp.fp.) 

 
490 

 
440 

 
436 

 
epiy  

 
 

1     2  3 

 
 
cj;jk nghUs; fyit 

nghUs; 

cw;gj;jpj; jpl;lk; tpepNahf vil 

(fp.fp.) 
nkhj;j Njitg;ghL (fp.fp.) 

rpwpa 1,000 1 1,000 

Mlk;gukhd 600 1.5 900 

cau;e;j 120 2.5 300 

 

 
 

 
 

2,200 

 
   (06 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
 

  



 

[Type text] 7      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 06 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 03 -  NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; fl;Lg;gLj;jy; 
vjpu; ghjPly; 

 

 

 

Vg;-22 Nk-22 A+d;-22 

tuTfs; 

   fhR tpw;gid-W1 1,200,000 640,000 1,120,000 

nkhj;j tuT 1,200,000 640,000 1,120,000 

    nfhLg;gdTfs; 

   Jzp toq;FdUf;fhd nfhLg;gdT - W2 450,000 396,000 126,000 
Vida Jizg;nghUs; toq;FdUf;fhd 

nfhLg;gdT - W2 264,000 84,000 192,000 

$ypf;fpuak; - ijj;jy;  - W3 140,000 320,000 360,000 

$ypf;fpuak; - tu;zk; G+Rjy; 160,000 160,000 160,000 

Nke;jiy fpuak; 45,000 45,000 45,000 

fzpdp nfhs;tdT fpuak; - 230,000 - 

nkhj;j nfhLg;gdTfs;  1,059,000 1,235,000 883,000 

    

epfu; fhRg;gha;r;ry 141,000 (595,000) 237,000 

kp / nfh / nr 500,000 641,000 46,000 

kp / nfh / t 641,000 46,000 283,000 

 
nra;Kiw: 
 W1 - fhR tpw;gid                                                (&.)                                                                                    

 
Vg;-22 Nk-22 A+d;-22 

tpw;gidfs; fzpak; 1,500 800 1,400 

tpw;gid tpiy 800 800 800 

fhR tpw;gid 1,200,000 640,000 1,120,000 

  
W2 - %yg;nghUs; toq;FdUf;fhd nfhLg;gdT                            (&.)                                                                                               

 
Vg;-22 Nk-22 A+d;-22 

cw;gj;jp fzpak; (myFfs;;) 700 1,600 1,800 

%yg;nghUs; fpuak; xU myfpw;F 

&.300  210,000 480,000 540,000 

Jzpf;fpuak;  @ 60%  126,000 288,000 324,000 

Vida Jizg;nghUs;  fpuak; @ 40%   84,000 192,000 216,000 

Jzp toq;FdUf;fhd nfhLg;gdT 450,000 396,000 126,000 

Vida Jizg;nghUs; toq;FdUf;fhd 
nfhLg;gdT 264,000 84,000 192,000 

 
 
 
 



 

[Type text] 8      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

W3 - $ypf;fpuak; - ijj;jy;                                                                                                         (&.) 

 

Vg;-22 Nk-22 A+d;-22 

cw;gj;jp fzpak; (myFfs;;) 700 1,600 1,800 

ijj;jy; fpuak; (&.200 xU myfpw;F) 140,000 320,000 360,000 
 (10 Gs;spfs;) 

tpdh 07 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 5 - %yjd %yq;fs; kw;Wk; %yjdf; fpuak; 

 
(a) rhjhuz thf;Fupikg; gq;Ffspd; fpuak; 

Ke / re = D0   
× 100 

  

P0 

   

 

 

 
= 2.4 × 100 

  

16 

   

 

 

 
= 15%  

       (02 Gs;spfs;) 
 

(b) kPl;fg;gl Kbahj Kd;Dupikg; gq;Ffspd; fpuak; 
 

Kp / rp = D0 
× 100 

  

P0 

   

  

 
= 1.5 

× 100 

  

12 

   

  

 
= 12.5%   

   (02 Gs;spfs;) 
 

(c) kPl;fg;glj;jf;f jdpr;rq;fspd; fpuak;- IRR fzpj;jy; 
 
IRR = a + (b - a) × NPVa  

  
NPVa - NPVb  

    
  

 
 

 

 

 

= 10% + (12% - 10%) × 15.34  

 
   

  (15.34  - 22.43)  

 
   

  

   

 

 

= 10% + 2%       × 
15.34

−7.09
   

 

 
   

  
   

 

 

= 5.67% 
 

  

   

 
 
  



 

[Type text] 9      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nra;Kiw: 
 
Mz;L tpguk; fhRg;gha;r;ry; DF @ 12% PV DF @ 10%  PV  

0 toq;fy; 112 1 112 1 112 

1-5 * tl;b (9.12) 3.604 (32.87) 3.791 (34.56) 

5 
**kPl;fg;gl;l 
ngWkjp (100) 0.567 (56.7) 0.621 (62.1) 

 

NPV 

  
22.43 

 
15.34 

 

*tl;b (tupf;Fg;gpd;) = tupf;F Kd;duhd tl;b × (1-t) 

tl;b (tupf;Fg;gpd;) = 

= 

= 

= 

tupf;F Kd;duhd tl;b × (1-t) 

(100 × 12%) × (1-0.24) 

12 × 0.76 

9.12 

**kPl;fg;gl;l fhRg;gha;r;ry; 

kPl;fg;gl;l fhRg;gha;r;ry;=  100 × 12% × 76% = 100 
       (03 Gs;spfs;) 

 
(d) re;ijg; ngWkjpfisg; gad;gLj;jp> epiwNaw;wg;gl;l ruhrup %yjdf;fpuak; 

 

tpguk; re;ijg; ngWkjp (&.’000) epiw COC % WACC 

rhjhuz gq;Ffs; 960,000 0.59 15% 8.85 
Kd;Dupikg; 
gq;Ffs; 120,000 

0.07 
12.5% 0.875 

jdpr;rq;fs; 560,000 0.34 5.67% 1.928 

 
1,640,000  

 
11.653 

 
khw;W tpil 
kPl;fg;glj;jf;f jdpr;rq;fspd; fpuak; - IRR fzpj;jy; 

IRR = a + (b - a) × NPVa  

  
 NPVa - NPVb  

    
  

 
 

 

 

 

= 5% + (10% - 5%) × -5.88  

 
   

  (-5.88 - 15.34)  

 
   

  

   

 

 

= 5% + 5%       × 
−5.88

−21.22
    

 
   

  
   

 

 

= 6.39% 
 

  

   

 

 
 
 
 



 

[Type text] 10      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nra;Kiw: 
 
Mz;L tpguk; fhRg;gha;r;ry; DF @ 5% PV DF @ 10%  PV  

0 toq;fy; 112 1 112 1 112 

1-5 tl;b (9.12) 4.329 (39.48) 3.791 (34.56) 

5 

kPl;fg;gl;l 

ngWkjp (100) 0.784 (78.4) 0.621 (62.1) 

 

NPV 

  

(5.88) 

 

15.34 

 
 

re;ijg; ngWkjpfisg; gad;gLj;jp> epiwNaw;wg;gl;l ruhrup %yjdf;fpuak; 
 

tpguk; re;ijg; ngWkjp (&.’000) epiw COC % WACC 

rhjhuz gq;Ffs; 960,000 0.59 15% 8.85 

Kd;Dupikg; 
gq;Ffs; 120,000 

0.07 
12.5% 0.875 

jdpr;rq;fs; 560,000 0.34 6.39% 2.173 

 

1,640,000  

 

11.898 

 
 

   (03 Gs;spfs;) 
 

 (nkhj;jk; 10 Gs;spfs;) 
 

 
 
 
 
 

  

gpupT B KbT 
 



 

[Type text] 11      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(50 Gs;spfs;) 
 

 

tpdh 08 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 04 - epakf; fpuak; kw;Wk; Kuz; gFg;gha;T 

(a) 
(i) tpw;gid tpiy Kuz; 
 
tpw;gid tpiy 
Kuz; 
 = 

cz;ik tpw;gidfs; 
fzpak; × 

(cz;ik tpiy - epak tpiy) 

 
= 7,560 × 1,700 - 1680) 

 
= 151,200 ghjfk;     

 
nra;Kiw: 
epak tpiy = 12,700,800/ 7,560 = 1,680 

(02 Gs;spfs;) 
(ii) Neu; $yp tPj Kuz; 
 

DLRV = 
cz;ikahd 
Neu; $yp kzp x (epiyahd tPjk; - cz;ik tPjk;) 

   j1 = 7,540 x (170 - 176) = 45,240 ghjfk; 

j2 = 15,800 x (75 - 72) = 47,400 rhjfk; 

        2,160 rhjfk; 

nra;Kiw: 
j1 cz;ik tPjk; = 1,327,040/7,540     = 176  
j2 cz;ik tPjk; = 1,137,600/15,800   = 72 

(02 Gs;spfs;) 
 

(iii) Neu; $yp fyit Kuz; 
 
Neu; $yp 
fyit Kuz; 

 

= epiyahd tPjk; [(cz;ikahd kzp × epak fyit) - (cz;ikahd 
kzp × cz;ikahd fyit)] 

juk; 1 = 170 [(23,340 ×
1

3
) −  (23,340 ×

7,540

23,340
)] 

   

 =  170 (7,780 – 7,540)    

 =  40,800 rhjfk;    
 

juk; 2 = 75 [(23,340 ×
2

3
) −  (23,340 ×

15,800

23,340
)] 

   

 = 75 (15,560 – 15,800)     

 = 18,000 ghjfk;    

      

nkhj;jk; = 40,800 rh – 18,000 gh    

 = 22,800 rhjfk;    
 

(03 Gs;spfs;) 

gpupT - C 
 



 

[Type text] 12      Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(iv) Neu; $yp tpisT (cw;gj;jpj;jpwd;) Kuz; 

Neu; $yp tpisT 
(cw;gj;jpj;jpwd;) 
Kuz; 

 

=    epiyahd tPjk; [(cz;ikahd kzp × epak fyit) - (cz;ikahd 
kzp × cz;ikahd fyit)] 

juk; 1 = 170 [(22,680 ×
1

3
) −  (23,340 ×

1

3
)] 

   

 =    170 (7,560 – 7,780)     

 =    37,400 ghjfk;    

 

juk; 2 = 75 [(22,680 ×
2

3
) −  (23,340 ×

2

3
)] 

   

 =     75 (15,120 – 15,560)     

 =     33,000 ghjfk;    

      

nkhj;jk; =    37,400 gh + 33,000 gh    

 =    70,400 ghjfk;    

 
(03 Gs;spfs;) 

(b) njhopw;ghl;Lf; $w;W 
 

ghjpl;l gq;fspg;G 8,000 × 300 2,400,000 

tpw;gid vy;iy fdtsT Kuz; 
 

(132,000) 

cz;ikahd tpw;gidapd; ghjpl;l gq;fspg;G 
 

2,268,000 

   + rhjf Kuz;fs;;   

Neu; nghUs; tpiy Kuz; 89,368 
 Neu; nghUs; ghtid Kuz; 120,800 
 Neu; $yp tPj Kuz; 2,160 
 Neu; $yp fyit Kuz; 22,800 235,128 

   

- ghjf Kuz;fs;   

Neu; $yp tpisT (cw;gj;jpwd;) Kuz; 70,400 
 khWk; Nke;jiy nrytpd Kuz; 70,020 
 khWk; Nke;jiy tpidj;jpwd; Kuz; 26,400 
 tpw;gid tpiy Kuz; 151,200 (318,020) 

cz;ikahd gq;fspg;G 
 

2,185,108 
 
 

(05 Gs;spfs;) 
 (nkhj;jk; 15 Gs;spfs;) 
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tpdh 09 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
mj;jpahak; 06 -  %yjd KjyPLfs; kjpg;gPL 

 (a)        
      (&.’000) 

 M 0 M 1 M 2 M 3 M 4 M 5 
KjyPL (125,000)      
njhopw;ghL %yjdk; (3,000)      

tpw;gid (W2)  82,500 115,500 171,000 180,000 127,500 
khWk; cw;gj;jp fpuak;  (30,000) (44,000) (72,000) (80,000) (60,000) 
tpsk;gug;gLj;jy; fpuak;  (8,000) (23,000) (15,000) (15,000) (4,000) 

epiyahd Nke;jiy 
fpuak; (W1)  

 (12,000) (12,000) (12,000) (12,000) (12,000) 

tUkhd tup (W2)  (300) (1,260) (9,780) (10,020) (12,360) 

 (128,000) 32,200 35,240 62,220 62,980 42,140 

DCF @10% 1 0.909 0.826 0.751 0.683 0.621 
epfu ,w;iwg; ngWkjp (128,000) 29,270 29,108 46,727 43,015 26,169 

NPV = 46,290 
 
nra;Kiw: 
W1 - njhlu;Ggl;l epiyahd fpuak; 

 
 
 
 

W2 – tUkhd tup 

 
(13 Gs;spfs;) 

epiyahd Nke;jiy = 37,000 
ngWkhdj; Nja;T ( 125,000/5) = (25,000) 

epiyahd Nke;jiy fpuak; 
 

  12,000 

 

M 1 M 2 M 3 M 4 M 5 

tpw;gid  myF 7,500 11,000 18,000 20,000 15,000 

tpw;gid  tpiy 11,000 10,500 9,500 9,000 8,500 

tpw;gid 82,500 115,500 171,000 180,000 127,500 

khWk; Nke;jiy (&.4,000  
xU myfpw;F × myFfspd; 
vz;zpf;if ) 

(30,000) (44,000) (72,000) (80,000) (60,000) 

tpsk;gug;gLj;jy; fpuak; (8,000) (23,000) (15,000) (15,000) (4,000) 
ngWkhdj; Nja;T 
(125,000/5) 

(25,000) (25,000) (25,000) (25,000) (25,000) 

epiyahd Nke;jiy (12,000) (12,000) (12,000) (12,000) (12,000) 

,yhgk; 7,500 11,500 47,000 48,000 26,500 

ngWkhdj; Nja;T 25,000 25,000 25,000 25,000 25,000 
%yjdf; nfhLg;gdT  
(125,000 × 25%) (31,250) (31,250) (31,250) (31,250) - 

tup tpjpf;fj;jf;f ,yhgk; 1,250 5,250 40,750 41,750 51,500 

tup @ 24% 300 1,260 9,780 10,020 12,360 
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(b) ,e;j nraw;wpl;lk;. Neu;kiwahd ,w;iwg; ngWkjp &.46,290,000 iaj; jUtjhy;  

,;jid Vw;Wf;nfhs;tJ cfe;jJ. ,e;j nraw;wpl;lk; rhj;jpakhdJ. 

(02 Gs;spfs;) 
 

 (nkhj;j 15 Gs;spfs;) 
 

tpdh 10 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
      (A) 

mj;jpahak; 02 - nra;Kiwf; fputpay; kw;Wk; b[pw;wy; fpuatpay; 
 

nra;Kiw II fzf;F 
tpguk; myF ngWkjp tpguk; myF ngWkjp 

Neu; %yg;nghUs; 8,000 1,520,640 
KbTg;nghUs; 
ntspaPL   6,230 2,787,925 

Neu; $yp - 1,320,760 rhjhuz ,og;G 320 19,200 

Nke;jiy - 534,650 mrhjhuz ,og;G 800 358,000 

  
  

Gj;JUthFk; 
Ntiy 650 210,925 

  8,000 3,376,050   8,000 3,376,050 

     
   

W1- rkdhd myFfspd; $w;W 

 

nkhj;j 
msT 
fp.fp. 

%yg;nghUs; Neu;f;$yp Nke;jiy 

KOikahf 
g+u;j;jpahdJ 

rk 
myF 

KOikahf 
g+u;j;jpahdJ 

rk 
myF 

KOikahf 
g+u;j;jpahdJ 

rk 
myF 

Muk;g ,Ug;G - 
      ntspaPL 6,230 100% 6,230 100% 6,230 100% 6,230 

rhjhuz ,og;G - 
cs;sPl;bd; 5%  320 - - 

 
- 

  mrhjhuz ,og;G 800 100% 800 100% 800 100% 800 
,Wjp 
Gj;JUthFk; 
Ntiy 650 100% 650 60% 390 30% 195 

nkhj;j cs;sPL 8,000   7,680 
 

7,420 
 

7,225 

 
W2- myF fpuaj;jpd; fzpg;gPL 

 
Neu; %yg;nghUs; Neu; $yp Nke;jiy nkhj;jk; 

cs;sPl;bd; fpuak; 1,520,640 1,320,760 534,650 3,376,050 
tpua myFfspd; tpw;gid 
&.60/-  (19,200) - - (19,200) 

cs;sPl;bd; epfu fpuak; 1,501,440 1,320,760 534,650 3,356,850 

vjpu;ghu;f;fg;gLk; rk myFfs 7,680 7,420 7,225 
 cw;gj;jp nra;ag;gl;l myfpd; 

fpuak; 195.5 178 74 447.5 
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W3 - kjpg;gPl;Lf; $w;W 

 

Neu; %yg;nghUs; Neu; $yp Nke;jiy 
 rk 

myF 
myF 
fpuak; 

nkhj;jk; 
rk 

myF 
myF 
fpuak; 

nkhj;jk; 
rk 

myF 
myF 
fpuak; 

nkhj;jk; nkhj;jk; 

ntspaPL 6,230 195.5 1,217,965 6,230 178 1,108,940 6,230 74 461,020 2,787,925 
Mrhjhuz 
,og;G 800 195.5 156,400 800 178 142,400 800 74 59,200 358,000 
,Wjp 
Gj;JUthFk; 
Ntiy 650 195.5 127,075 390 178 69,420 195 74 14,430 210,925 

   

1,501,440 
  

1,320,760 
  

534,650 
   

(14 Gs;spfs;) 

 
(B) 
 
mj;jpahak; 01 - Kfhik fzf;fPl;Lf;fhd mwpKfk; ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 

  

cs;sf 
tpw;gid mzp 

 

 
ntspthupahd 
tpw;gid mzp 

tpw;gidfs; 
fzpak; 500,000 × 0.2 100,000 

 
500,000 × 0.3 150,000 

 
380,000 × 0. 5 190,000  380,000 × 0.55 209,000 

 
290,000 × 0.3                 87,000 

 
290,000 × 0.15 

                
43,500 

vjpu;ghu;f;fg;gl;l 
tpw;gidfs; 
fzpak; 

 
377,000 

 

 
402,500 

      
tUlhe;j tpw;gid 
@ &.150 

 
56,550,000 

 

 
60,375,000 

khWk; fpuak; @ 
&.45  

 
(16,965,000) 

 

 
(18,112,500) 

tpw;gidj; juF 
 

(1,696,500)  

 
(3,018,750) 

gq;fspg;G 
 

37,888,500   39,243,750 
 
tpw;gid myFfs; xU Mz;nlhd;wpw;F cupaJ vd fUjg;gLfpwJ.  

                                                                                                                                              
Gjpa nghUis tpw;gid nra;tjw;F ntspthupahd tpw;gid mzpapdiu 
thliff;F mku;j;JtJ cfe;jJ.   

 
 (06 Gs;spfs;) 

 
(nkhj;jk;  20 Gs;spfs;) 

 

 
 
  

gpupT C KbT 
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Notice:  
These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.  
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 
fundamental objective of this publication is to add completeness to its series of study texts, designs 
especially for the benefit of those students who are engaged in self-studies. These are intended to 
assist them with the exploration of the relevant subject matter and further enhance their 

understanding as well as stay relevant in the art of answering questions at examination level.  
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